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Prove each identity; 
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secx 
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sec8sin8 

tan8+ cot8 
sin' 8 

5 ' ., 12" . cos Y - sin y = - Sin Y 

7. 
sec2 e --

sec2 e-1 
csc2 e 

Identities worksheet 3.4 name: 

2. 1 + cos x = esc x + cot x 
sinx 

4. sec8 tan8 1 
-----= 
cos8 cot8 

6. csc2 e tan2 e -1 = tan2 e 

8. tan2 x sin' x = tan' x - sin' x 



Tria 
Prove each identity: 

1. 
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5. 

7. 

. 1 
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tane + cote 
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sec'O 
-- esc' 0 

sec' 11 - 1 

Identities worksheet 3.4 name: 
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cosO cotO 

6. ese'Otan' II -1 = tan' II 

8. tan' x sin' x = tan' x - sin' x 
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Tri;z Identities worksheet 3.4 

9. _ (sine 'I. ~s~r+J:'ln~-coser = 2 
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Trig Identity Quiz 

Prove the following identity 

1) 2 cos etan ecsc e= 2 

2)6cos ----- = 6sm e {
I cot e J . l 

cos e esc e 

l cot e , , 
3) 7 --e- sec e= 7 tan ecos ecsc e 
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